51
AP Free Response Practice #1 [5 Stepsto a 5, 7 points)

Ny(g) +3Hy(g) = 2NH;(g)  AH = —92.4k]/mol.y,

1. When the reaction above took place at a temperature of 570 X in a reaction vessel of 0.75 L, the following values
were measured after the system reached equilium:

NH3 = 0,150 mol
Na = 0.375 mol
Hz = 0.150 mol
a. Write the expression for the equilibrium constant, K., and calculate its value. {2 points]

b. Calculate AG for this reaction. [1 point]

¢. Describe how the concentration of Ha2(g) at equilibrium will be affected by each of the following changes to
the system at equilibrium,

i. The temperature is increased. [1 point]
li.  The volume of the reaction chamber is increased. [1 point]
iii. N3 gasis added to the reaction chamber. [1 point}

iv.  Helium gas Is added to the reaction chamber. [1 point]
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